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2019(Even)

Sem - IV/E & EEE

E. Est. & Costing
Full Marks : 70

Pass Marks : 28

Time : 3Hrs.

Answer all 20 questions from Group A, each question
carries 1 marks.

Ju-A ¥ afl 20 ¥ B SR T, IAP U BT 4 1352 |

Answer all Two questions from Group B, each question
carries 10 marks.

Zu—B 4 wfl 31yl & SR <, yAD u o1 A 103D E |
Answer one questions from Group C, each question

carries 30 marks.

Ju-C ¥ Uh U & SR <, UAS U T 911 30 b 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TH U & O e BT SR U@ &) TR (AR & o)
BT AMRY, =41 4 Sifd T8 o ¥ahd © |

The figure in right hand margin indicate marks.
¥ ursd @ e QUile & qad 2 |
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GROUP -C

Answer only one questions. 1x30=30

Udh 39 &I Idx < |

4.

Draw the electric circuit and estimate the quantity
of material and total cost for PVC wiring system
used in a hall of 15 m x 6m x 41? m height. The
hall is to be fitted with fan points and light points.
Make your own assumption for the number of fan
and light points and other missing datas.

30

Udh Bl 15mx 6mx 41? E"iﬂs($f%ﬂ'

flo o ¥lo arAR fafer gy araRer fear
T ¥ | sadl faeggd uRuer €ffa qom arafr
H ygad |l aElAl &) TvET s)d ge @d
BT AThe B | Bl H STORd & IJAR U@l
AT dTgel Bl SIST ST 2 | 37U Heu-l &
IMUR U@l dAT dlgcl &I &l A1d HY del
I 3ibs bl fY 7 of |
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(i)

(iii)

(1i1)

(iv)
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Udh 99— W YRET ?q afsd
qretd g a e & d=
AT &dr 2 |

(31) SUBREIl & WA IR H

(@) Sumxvll & wrer Aofy A

(&) (1) dor @) <=

(?) 37 9 @I¥

The value of low voltage does not exceed
......... under normal condition.

(a) 200 volts

(b) 250 volts

(c) 300 volts

(d) 440 volts

=1 dieeS &1 A9 q SgreT
T8 'I4T arfaw et Reafa 7 |

(31) 200 dlecT

(@) 250 dice

(d) 300 dlece

(]) 440 dice

The symbol of exhaust fan is
(a) oo
(b)
(c) -8
(d) [0]
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xx) el srfed ae—aRuer 4 #g 9R
g&a: faem grar 27
(31) 1000 W
() 2000 W
(&) 3000 W
() 800 W

GROUPB

Answer all Two Questions. 2x10=20
aft ST gl @ SR < |

2. How will you determine the number of circuits
required in a house wiring installation? Explain
the looping-in-system and joint-box system of

wiring. 10

faslt er @1 9T ufossas 8 uRuer &
T BT 91 AT DA B 8?7 Ju—sI—faf
a1 sarse died 9T fafr &1 aofa ¥ |
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(vi)

(vii)

(vii)

(viii)
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fodl aR &1 yReRIg YahArgurdl
QAT 8:—

(31) < eTE B

@) ufeRigwar

(F) X- O g%

() argHT

Highly skilled labour is required in

(a) TRS wiring

(b) Conduit wiring

(c) Casing-capping wiring

(d) Both conduit and casing -capping wiring

S7a gRIST AeqR @Y mawawar gl @

(31 Ho3MRoTHo arIRTT D ferg

(@) ursy IR @ ferg

() dRIT—ofT araRT & forg

(%) <I= sy a1 dRIT—a T arERaT
& ferg

PVC conduits can be buried in
(a) Plaster

(b) Lime

(c) Concrete

(d) Any of these
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(xvi)

(xvii)

(xvii)

(xviii)

10 N4067

LE. \e?M & IJUR fagarie ufaxie
fody «fr aRRerfar 9 | &4
& g4T TRy |

(31) 5 MQ

(@) 50 MQ

(") 500 MQ

() 0.5 MQ

All lamps unless otherwise required, are to
be hung at a height of ............ meters above
the floor level.

(a) 1.5

(b)2.5

(c)3.5

(d)1

yA® W Ife Arazgsd Ll 8l dF <
BT A1RT $ATS U oo Mrex
ggd @ d¥% 9 $Hdls UX |

(®) 15

@) 25

(|) 35

(?) 1

No fuse or switch is to be provided in ..........
conductor.

(a) Phase

(b) Neutral

(c) Earthed & neutral

(d) None of these

N4067

(x)

(xi)

(xi)

(xii)
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fooell faga yaifza @ 4 fagaiea
®T ITANT 9911 =g (HAT €T 2 |
(@1 a=T R™ama

(@) =ii®

(&) <=t (31) qr ()

(?) 379 4 BIg &

The resistance of earth should be
(a) Infinite

(b) Low

(c) High

(d) The minimum possible

godl &1 yfoRIeg BI41 A1f3y |
(31) 3=

@) =

(|) S=a

(%) 9 4 H9 ¥4

Which of the following is least preferred for
earthing?

(a) Clayer Soil

(b) Dry & Rocky

(c) Earth mixed with salt and charcoal

(d) None of these
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